5. Sketel

Ph 672 — Pl Got #]

(e k”o_e L_h_s - 6900 _Q_,)

il

Nowr

|

2 2K

— I (“/4!“/1/%6,7"6!" Y E Current mﬁ{'c:x")
i R <\\,"" C Cuereat -fl. au_gfr\ z’\/\.c..r‘{’ﬁr - g’-c:_,ﬁ‘.ne_gg
L= , + in direclion of  arrow)

SRR (V7 F

. - ¢CPL‘“£ \%%E S
N A e

[w EZ‘TY ‘F u& e "T" = RC_. .F __c_a_nv_re_ & m’g'] L 2l (éﬂ) . ) |

M

C Wt )V on log-los plt for 3 Y.
Shoow Q?/mpﬂ?o%cs) _ , e

0

To ’L‘?




i

<
w H
1

Wk.. - ;WWJ
<
r
Y ;

AE”‘W’( T,’!«&u&ﬂ_;n 9‘? v }_Vé....{%”f Crrews T.L: .

: gl 4—.? - B e S e

Rétew .

Al resictors are- 3K ohme e Find 3:,_ s
(Sujjas:{ﬁon s Find  Theveain, €g.u iveleats for [left

and.  cight halves  of Ao, circwit .S‘,c(-vd._.ra_a(..&K/ -
Thon hook Mhem Together. ) | }




